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60 |=FLTT I MFEE 7.6 151 2,782 2,941

M-1




N
e

fEFe12 YRR - S = RIRI O PE H B R R CPARSOAEIE : THEURY) (1. P RIEFRAH Te di 3 HADOT LYY PL T~ 23, pE SEBEFED e R fi e

KA FERIPEH R (kg/FE, ZAAF L FIme-TEQ/#E)

it 1 2 3 4 5 6 7 3 9 10 11 12 13 14 15 16 17 18 19 20 21 ﬁé%g g%%ﬁ
H wEs HEHRD | e | | RIS V(| B A | R (oo ~ FREE . | B | % | AVURE | AR A kL i ot
e iﬁfgg IR Bl | BEA | @R #l S e vou | m [EETE - H WA e g | AOE TEWTT | S8 | T = WL_%@EE %L;w_gﬂﬁﬁ
61 |~ X7 1,125 1,125
62 |voats 9,902 9,902
63 [T o7 rIN 4,843 4,843
64 |Th7xr Ty sA 1,996 144 2,140
65 |=t'/mmeRyy 0.24 0.24
66 |1, 2—THRFTTH
67 [2, 3—=ARFL —1—Tw)—)L
68 |Efk7 L 0.089 0.089
69 2, 3—TARFL SO N =T =)L T—F

v
70 TV AYFUBlaZ BERIE R N~ 2T 77 77

UBlb & BEMBIEOIREY
71 (AL 8k 0.59 0.59
79 BIEATT A2 (REHAT0HH13ETOD

DR OEDIREWIIRS, )
73 [1—A2%/—n 0.38 0.0004 0.38
4 NG FIFNT =) =)L
75 [ IRIVLROZEDOILED 0.056 0.027|  0.097 38 41 80
76 | AFur— AT uII A 0.14 0.14
7 AT ILLTFIR
78 [2,4—FTL/—L
79 [2, 6—FL/—1
80 [Fi L 211,247| 31,168 579 2,492] 487,413] 61,023 5,034 468,227 13,416] 16,278] 27,809 119/ 119 63 647| 1,325,633
81 % /Uv 0.00003 0.00003
82 |$RK O DKEHELEY 7.0 52 40 99
83 (/A 1,186 4.0 2,448 3.3 3,641
84 [ JVAFY—IL
85 |/ NHNLTILTER 21 0.042 21
86 /LY —/L 0.010 197 0.003 197
87 [rul kU =fiznsfbEW 2.0 0.083 0.28 5.6 147 23 178
88 |AflizabiA 0.87 219 220
89 |(zunry=yr
90 [ThIvv 763 763
91 2 TSV 2,496 2,496
92 [ML7= ETR 822 822
93 [ANTFZE—V 1,661 1,661
94 [Hifee = 1.5 1.5
95 [ INTIF A 5,629 5,629
96 [Tz /af— 221 221
97 |1—Zvua—2— (/ruAf L) B
98 |ranfig
99 | ZunfifgTI L
100 [FvFF7m—/L 3,075 3,075
101 [797m—)L 1,075 1,075
102 [1—/mn—2, 4—Y=pa~o B
103 [HCFC—142b 12,229 12,229
104 [HCFC—22 157,690 157,690
105 [HCFC—124
106 |[HCFC—133
107 [CFC—13
108 [Aa7ay” 5,245 5,245
109 [ ANh—rapphlx
110 (/T —raaplay
111 |2—Zvun—4—=fa7=lr
112 |[2—7upn=fp~ ¥
13 [v~ov 777 777
14 (K )77 7.1 7.1
115 |7 hIHIR 753 753
116 [(~XLF TV IR 40 40
117 [F7 a5y —n 644 7.5 651
118 3/n74=)L 81 81
119 [7=r7ars—iu 154 154
120 [ ANb—rva7x)—)
121 /N —Znan7x/)—)v
122 |2—zunZ a4 g

-2



MREZR 12 PEHIERI - R G P BN O Pk H e A A CEARB0MEE : THEIR) (1. SRR 2 Lo Ji 6 H DO T 2 YI0 DL F~23. i RV BEHI M st

KA AEMPEH G (kg/ 4, X AA XLV HHidme-TEQ/4F)
it %% 2 3 4 5 6 7 3 9 10 11 12 13 14 15 16 17 18 19 20 21 ﬁé%ﬁ E%%ﬁ
o WA, HEEHD | e | an gy MRV GCE AL B | W= 2o - ERREE| . | G | W% AVUVIE A | EEE | FALER s it
& iﬁfgg JSE | Rl BRI @R #l S e vou | m HEIE | TR H I = R S R e . B L = WL_%@EE %L;vgﬂﬁﬁ
123 BT
124 |73y 299 299
125 |Zoo~L Py 388 1,225 26 53 1,692
126 |CFC—115
127 [ZaokL s 492 3,533 649 55 4,730
128 [MEfbAF /v
129 [4—/ma—3—AFLT=/)—L
130 |MCP
131 3—7ur—2—AF)L—1—7ma~
132 |2 VRO OfLEY 26 0.041 0.015 606 2.2 635
133 ;it“”j NI EFNE=TATE 2,311 0.033 2,311
134 [FlgE =L 201 830 2.6 1,034
135 :f?t‘/ﬁ‘U:—/Iz—'E/%?/b::—?‘/le’z
.
136 |[HVFAT T ER
137 273K 11 11
138 [V Avh 9.0 9.0
139 [FFRAR 11 51 62
140 |7 =27 asR )y 312 17 329
141 [~ExHF =1 270 270
142 (2, 4—V T3 7 =/—)V
143 4, 4’ —D7) 0T ==L =—F L
> AP A N
144 g?g?/{tu%(%ﬁ&(}/?/@m& 142 2.0 673 817
145 |2— (V=F)NT/) X /) —)v
146 [EUIRAAF L 49 49
14T [FALINT 707 707
148 [ A7 =2 Apu—/L 1,259 1,259
149 | R 0.41 0.41
150 1, 4—JAF %> 48 76 123
151 |1, 3—YAFVT
162 | ANEYT 8,173 8,173
153 [FhF AR 1,496 1,496
154 2 7a~FI AT
155 |N— (L 7u~F I NFA) 7HAAIN 0.54 7.9 8.5
156 |[7mnr=
157 |1, 2—Yrnnxiy 122 2.9 125
158 [Hifbe =7
159 2 A—1, 2—YrupxFL
160 |3 3 —vrun—4, 4 V7))V T =
VAR
161 |CFC—12 19,601 19,601
162 |7 EEHIR 654 654
163 |CFC—114
164 [HCFC—123 4,617 4,617
165 |2, 4—Y/muhLxy
166 |1, 2—Y7np—4—=pa~ L~
167 |1, 4—Y/pn—2—=fa~r B
168 (A 7oAy 1,199 1,199
169 [Pvmy 2,185 2,185
170 [Tho=)Y = 12 12
171 [FrE=a)ry—u 140 65 205
172 [AFHFPruri 826 826
173 [erruyy
174 V=amy 1,824 1,824
175 |2, 4—D 7,440 7,440
176 |[HCFC—141b 31,725 31,725
177 [HCFC—21
178 |1, 2—Y7nuru/y 84 84
179 [D—D 1,475,375 1,475,375
180 |3, 3" —v7mu~u v
181 |[Y/ma~ By 0.74 1,086 314,288 0.024 206| 315,581
182 5/ %L 7=z 227 227
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211 /B —2402
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215 |2, 6—VAF LT =V
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270 [ FL7HVER 0.0009 6.5 6.5
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273 |/~ —RF LT La—L 0.55 167 0.0003 167
274 | Z— XV —RT A FA—)
275 |R7 S ViEET P D A 143 153 0.039 110,003 28,034 138,334
276 [ ThIT=FL LU H3 1.1 1.1
277 [N=FALTI 182 1,122 1,304
278 [N x=FL T3 5.5 108 113
279 |1, 1, 1—RN)ruanxs
280 |1, 1, 2—hJ7ooxg
281 [F)/mnxFLo 13,100 5.7 131 13,237
282 [N/ auiiE 0.58 8.2 8.7
283 12,4, 6—KJ7un—1, 3, 5—KN7T7Y
284 |CFC—113
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301 ML YTy
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304 [fn 0.11 0.11
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379 [2—FuEr —1—F—)
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-7




MREZR 12 PEHIERI - R G P BN O Pk H e A A CEARB0MEE : THEIR) (1. SRR 2 Lo Ji 6 H DO T 2 YI0 DL F~23. i RV BEHI M st

XIGAL T E AEMPEH G (kg/ 4, X AA XLV HHidme-TEQ/4F)
it %% 2 3 4 5 6 7 3 9 10 11 12 13 14 15 16 17 18 19 20 21 ﬁé%g E%Ziﬁﬁ
o WA KGR e . i WREBATG Ve AL B Al | LR 7iEzo _ gk E B) \ g | Aize . AVURE | FAAR | ISEA | PR, T Exl

e iﬁ?@fgg IR Bl | BEA | @R #l S e vou | m [EETE - H AR e | g | AE TEWTT | S8 | T = %Q_%EHE %bﬁﬁiﬂﬁﬁ
383 |7 avib 4,555 4,555
384 [1—7 eSS0 12,301 12,301
385 [2— T mEF
386 |WL{LAT L 12,836 12,836
387 |[ER(L7 =2 T HARX
388 | TURALT 7
389 I?%#T//VFUJ%/VT/%MWAf&nU 38 1,863 435 2,302
390 [~FHFAFLLITI
391 [~FHFAFLL=IAVLT H—h 0.39 0.39
392 | )L~ —~FH 92,656 5,766 4,126 168,384 8,534 0.97 257| 279,724
393 [~NZFTh—/L
394 [ NUYY LR OZEDLED 0.20 0.20
395 |~ULARY RO KA 1.7 1.7
396 |PFOS
397 [~V =RzalR
398 |k~
399 [NUATATER 0.0005 262 11,034 353 2,097 745 30 0.00009 14,521
400 [~ 6,356 6.2 7,788 1,621] 180,339 5,968 24,716] 15,056 119 289 5.2 71| 242,972
401 |12 4— BN VIR R, 2— B

K
402 [A7=F &b 1,947 1,947
403 [N Tz ) 0.004 0.001 0.005
404 | ~oFmad ) —)v
405 IZH5HFLAED 126 335 31 18 345 856
406 [PCB

R (FFL2FL2) =T AFILo—T )L
407 | (T ARNIEDRFEEDI12515FTOE 3,759 9,804 37 1,002,065 43,517 1,059,183

DR VL DRGNS, )
108 iu_(;fi/i§vﬂ_*7§”’7l””’ 20 1,593 5.6 735 22 2,376

RY (AFzF L) =RT VLT —T/Uhf
409 g S e, 15 7,008 0.36 170,064 43,173 220,260
410 i%*ﬂ?/i%V/)_/”’WI””i 1,190 31,468 76 2,899 448 36,080
411 FVLTILTER 2,184 910 4,055 2,438 113,256 1,139] 67,984  15,102] 357 137 1,882 1,418 256 211,119
412 [~ A R OZEDILE Y 3.7 0.33 9.1 11 53 77
413 KT B VR 0.67 0.13 0.80
414 [ HEK~<L A 0.029 1.3 1.4
415 [ ATV 61 2.7 63
416 | AFTVIVER2 — = F L ~F L
417 | AFZVIVER2, 3—TiRFL 7L
418 | ARVYNVEE2 — (VAT NVT)) =F )L 0.090 0.15 0.24
419 [ AX V)V N~V —T F )L
420 | AV IVERATF IV 1,174 599 16 1,788
421 [4A—AFVF o AF®H —2—F
422 [TV B/ 868 868
423 AFALTI 0.0008 0.003 0.004
424 | ZFN=AIVFFH T F—h 14,540 14,540
425 AV TahNT
426 | INKRTT
427 [JINNYL 790 523 1,313
428 [T )TIINT 676 443 1,119
429 [NOAL TV AT L 102 102
430 [ A RFFHLT 38 38
431 |7/ ¥ APaE Y 5,103 5,103
432 [7INTX 40 40
433 [ 1—/3 4 4,600 4,600
434 [A¥HYIV 104 104
435 [EUS /Ry AF )L 76 76
436 [T NT 7 = AFNAFL Y 15 15
437 |3—AFNF AT —)L
438 [ AFNFTHLL 20 598 1.2 0.50 620
439 [3—AFAEVTL 1.9 1.9
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440 AAFR 0.003 0.019 0.022
441 2— (1 —AFLTEEN) —4, 6—V=Fr
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442 | AFo=)L 295 295
443 | AV 2,066 2,066
444 [N 7afx v AkrE 52 52
445 | JLYF T BAT IV 1,601 1,601
446 |4, 4’ —AFLL VT =)
447 AFLUER(4, 1—Y7un~ngdily) =y

AT F—h
448 f%v/l:xm, 1—Tz=Ly) =V 13 0.25 13
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449 [T AT 4T 7
450 |[EVTFHLT 408 408
451 |2—ARFL —5—AF LT =V
452 |2— AV HT RS F T —)L 1.7 1.7
453 | BV T T MO EDILEY 2.1 598 3.8 604
454 |2— (BNKRY ) OFA) S F T —) 0.23 0.23
455 [NV 16 188 204
456 WAALT AVI=T 4 609 609
457 [V 7a)LIRA 1,923 1,923
458 WABER)A(2—=F L~F L)
459 [DARER) A (2— oo F L) 1.1 1.1
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